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General Instructions:

. This question paper contains 39 questions divided into three parts A, B and C. All the
questions are compulsory.

. Part A consists of two sections — I and II. Section — I has 16 questions of 1 mark each and
Section — II has 4 case-study based questions.

. Part B consists of 8 objective type questions.

. Part C consists of 11 questions carrying four questions of 2 marks and 3 marks each and
three questions of 4 marks.

. There is no overall choice. However internal choices are provided in some questions. You
have to attempt only one of the alternatives in all such questions.

. There is no negative marking.

. Use of calculator is not permitted.

Please write down the serial number of question before attempting it.

AT 37 Part A
@s | Section I

g 7-768&7@’%%%7@33”/9?@&757@37%37#/

Q 1-16 are multiple choice questions. Each question is of 1 mark.

1. If& AABC 3R APQR &, AB=QR,BC=PR 3R CA=PQ&, ar
If AB =QR, BC =PR and CA =PQ in AABC and APQR, then
(A) AABC = APQR (B) ACBA = APRQ
(C) ABAC = ARPQ (D) ABCA = APQR



2. TH G IINAT gl ¢ TG 3THT GHAT fAwqoT §:

A number is irrational if its decimal representation is:

(A) 31@7d Non-terminating (B) 3/ 3eATadi Non-terminating non-recurring
(C) &g Terminating (D) 31T 3@l Non-terminating recurring
31Iar/OR

ﬁﬁﬁﬂﬁ%ﬁﬁwqﬁﬁumﬁmﬁwwmﬁaﬁwﬁ
. . 5 . . .
Which of these is a correct way to convert —° __toan equivalent number whose denominator is a
V63+v20

rational number?

A 15 (3v7-2+/5) B 15 x(3\/7—4v§)
B) Tezivzo X (3vr-2ve) ®) Tezrvzn * avr-avs)
c 15+(3V7-4v5) D 15+(3V7—-2v5)

©) Vesvzox(vi-avs) D) Testv20)x(3v7—2v5)

3. e facardf ¥ Fo alfal i SeraeEar & e 3gaR g faam:

A student recorded the population of some villages as shown below:

g Village SAEEAT Population
A 450
B 700
C 550
D 350
E 950

qAT IRNTFT HH3T F AT U I 91 g2
then represented the data on the graph given below:

»
o

Population

T T T T T
~ B [ D =
Willaaes

Aefaf@d & & Sia-ar $A=r y-3787 W 93T fomar sm=r?

Which of the following scale was used on the y — axis?

(A) 1 &8/ unit = 10 &9T/people (B) 18&r8/ unit = 50 &9T/people
(C) 1 3&mE/ unit = 100 &3/people (D) 13®E/ unit = 500 &T/people
4. & 1S BT F x FT AW &
In the given figure, the value of x is: 1200
(A) 230° (B) 100° O
(C) 120° (D) 115°



5. &Y ST AR 0T a 3R b §AT gV 1 fAefeh T ¢ Fr faeish N 50 9o
AT § T ‘b’ &I AT ‘@’ & dliel AT &1 ST| ‘a' & AT HY Feoiel g7
Harish places two straws forming angles a and b as shown and moves straw N such that the
value of ‘b’ gets three times of ‘a’. How does the value of ‘a’ change?

Straw N

a / v b
] Straw M

A) ‘@’ FT AT ofieT T 81 Sr & The value of ‘a’ triples.

B) 'a'&T AT 2b' ¥ &H g ST & The value of ‘a’ becomes less than ‘2b’.

C) 'a' & #ART '2b' & FI1ET & ST & The value of ‘a’ becomes more than ‘2b’.
D) 'a' =1 AT % T 8 Star & The value of ‘a’ becomes % times.

(A)
(B)
(€)
(D)

6. 7 3R 11 %m@r@qﬁﬁHMﬁﬁ%émﬁwﬁﬁmmW% STel m 9Tl
Tt & wAg @ werd gl Fefaf@a 7 @ i a1 F:ud ' §?
Some of the rational numbers between 7 and 11can be expressed in the form %, where m

belongs to a set of natural numbers. Which of the following statement is true?
(A) m & Hfr Fomfad AT 42 3R 66 & o
All possible values of m lie between 42 and 66.
(B) m & Tl wemfaa AT 42 3R 77 & 9 £
All possible values of m lie between 42 and 77.
(C) m & @i gonfaa AT 48 3R 60 & T §
All possible values of m lie between 48 and 60.

(D) m & Tefr ganfaa &A= 66 3R 77 & & &I

All possible values of m lie between 66 and 77.

7. §ET WW@T R V27 A AEhT e & v Rig 1 &7 @ mar &1 dwar @ & oD &t
B5ar & § # 9IT Feh 9g DQ dar Sar IR & w1 A g@ex & 3R 39T A
fArfaf@a ard e

&AT: OA = 53&1S, AB=BD = | 355
315T: OB =+/26 &1 3R AB = 13HE

Ridhi’s work to represent V27 on a number line is shown. 5
In the number line, arc DQ is drawn using OD as the radius. F%, ('r; 27

Looking at Ridhi’s work, Tina and Ajay made following statements.
Tina: OA =5 units, AB = BD =1 unit
Ajay: OB = /26 units and AB = | unit
HisT Tar 8?2 Who is correct?
(A)shaer &1 Only Tina (B) had 31T Only Ajay
(C) @&t Both of them (D) HIg & =g Neither of them



8. frafafda # & fra YW+ Tl g x = 1, y = -1 g2

x =1, y=-11is a solution of which of the following linear equation?

(A) x+y=2 B)x—-y=2
C) 2x-y=4 D)2x +y=4
31¥ar/OR

Y@ HAHIOT 52y - 4) + 3x -4y - 7 =0 H 'y HT IOTH g
The coefficient of ‘y’ in the linear equation 52y —4) + 3x -4y -7 =01s:
(A)-4 B)6 ©) 10 (D) 14

9. A FfE arer Afther et ofer arer & faeg e &

Two points having same ordinates but different abscissa lie:

(A) x- 38T 9T on x-axis (B) y- 37187 9T on y-axis
(C) x-378T & AR Teh W@ W (D) y-318T & THAGR Th I@T G
on a line parallel to x-axis on a line parallel to y-axis

10. &Y FIvT ST AT 180° BT &, 98 Fgda &

Two angles whose sum is equal to 180° are called:
(A) fTe@ 0T vertically opposite angle
(B) I UT complementary angle
(C) 3He=T &IUT adjacent angle
(D) EYI& @IUT supplementary angle
31ar/OR
Ife fonelt @ oA &1 o FloT, 7T FIOT g1 A GET HIOT g

If one angle of a linear pair is acute then the other angle will be:

(A) FHRIUT right angle (B) =T 0T acute angle
(C) 31f&& HIUT obtuse angle (D) FS[I0T straight angle

1127 gfcesdl @it garn &=1w a1v f¥egeT & o & feamr
IRT §1 ATOI = ASOD ' &g &t & faw a7 3fafkea

SATThRI T 3TTTHAT 82

The triangles made by two intersecting lines as shown in figure.
What additional information is required to prove that ATOI = ASOD? 1
(A) £DOS = £TOI (B) £0TI=2£0DI
(B) TO=0S (D) TI=DS b s
3YdI/OR X s

feT arv BesT A XYZ 3R ASTU, 548 4 g f@ga & gatoras g2
The given triangles A XYZ and A STU are congruent by which

congruence rule? 2em 3 em e
(A) SS8S (B) RHS
(C) SAS (D) 3R e ! |
All of the above Y sm z U T



12. 2y TegeT fe@iw 1w g1 APUL & 9R&A™ 30 & Bl

' P M
Two triangles are shown. The perimeter of APUL 70°
is 30 cm. 8.cm 10 cm
a1 T97eT |ateras &2 60° 50° 60°
) U L N Q

Are the triangles congruent?

(A) &, I THe[ST & 37T 0T AT IUEAT el TR g fAshy fARTerr ST FeheTl & o TefeT AAA
forae & gt €
Yes, as on calculating the missing angle in each triangle it can be concluded that the triangles are
congruent by AAA criteria.

(B) =TEt, FFiifeh Gcdeh TH8[eT # 31Ty hIUT & IUEAT G T S Fehell B
No, as the missing angle in each triangle cannot be calculated.
(C) Fegsit 1 FATTTHHA & R F fAsehy Fhrerr ST Fehell § TG APUL 1 8faT UL T oaTs 1 8T

The conclusion about the congruency of triangles can be made if length of the side UL of APUL is
known.

(D) efsit T Fatoraamtdr & IR A fAsshy fAhrem ST T & I AMNQ & 8feir MN,MQ a1 NQ #rdf
&l

The conclusion about the congruency of triangles can be made if length of the side MN,MQ or NQ
of AMNQ is known.

13.37113"533:%@@%@%3{%%%:

The area of an equilateral triangle having altitude ‘a’ unit is:

(A) V322 (B) “z—ga2
(GRS (D) 22
3RIET/OR

gfe (s - a) = 10 &=, (s - b) = 20 T, (s-c)=30®?ﬁ%,aTﬁﬁiHaHQﬁﬂTq%:
If s—a)=10cm, (s —b) =20 cm, (s — ¢) = 30 cm, then the perimeter of the triangle is:
(A) 20 cm (B) 30 cm
(C) 60 cm (D) 120 cm

14. wsh Tgger fSraehr oty 15 F, 20 el 3R 25 AT &, &7 ref-aRAT &
The semi-perimeter of a triangle whose sides are 15 cm, 20 cm and 25 cm is:
(A) 60 cm (B) 50 cm
(C)30 cm (D) 20 cm

15. Ifg et 2(Vk-1) +V/8 #H -8V2 SISl W Teh IRAT HEAT UIed &Il g, df k & Al

FIT gEM?

If on adding -8v/2 to the expression 2(vk-1) +V/8 results in a rational number, what is the
value of k?
(A) 6 (B) 12 (C) 18 (D) 36



16. = T 1w 3mgdfaT & weh dagrerd & faffieet el & 30 Migen! T AT I eeidr 9[-
The histogram below shows the number of visitors in a museum on different number of days:

y
A

Number of Days
G
]

o] T > X
40 60 80 100 120 140
Number of Visitors
ITART & R H 5948 T FAT T 87

Which of these is correct about the histogram?
(A) IETerd & 12 et & T ofemster 80-90 3Wides I

There were about 80-90 visitors for 12 days at the museum.
(B) @argrerd & 5 oAl & foIw oememr 60-70 3merdsh 2

There were about 60-70 visitors for 5 days at the museum.
(C) @argrerd & 6 feail & foIw o@memr 120-140 3meigs

There were about 120-140 visitors for 6 days at the museum.
(D) @IegTerd & 26 feell & foT ofemstar 100-120 3Wids 3|

There were about 100-120 visitors for 26 days at the museum.

@3 |l Section IT
g 17-20 FH T3t HATEMRT F97 &1 i@ & T3 ITEMRT 997 H 5 § 39377 |, 578 &
3T9FH FIS 4 3GHTTT §oT It & | e IGHT 1 3 F1 &/

Q 17-20 are case-study based questions. Each case-study based questions have 5 sub-parts. You have
to attempt only four out of five sub-parts. Each sub-part is of 1 mark each.

17. 9% ¥ 309 SeAfe W ATl 015 & 386 aR a8 9T SeAfee Teh BIC & 3HArdrerd H FATwa|
39 dgl @ arel st 3R g3 #F & & v A9 TS| 3T 993 b & AT T AF s T 2 AT
3R YcIsh quEh @ 3 A QUI 38 FeT 60 A 1|

On her birthday, Srishti planned that this time she will celebrate her birthday in a small orphanage
centre. She bought apples to give to children and adults living there. She gave 2 apples to each
child and 3 apples to each adult along with Birthday cake. She distributed total 60 apples.



= = i~ w - T

3T STPRT & IR R, Feafaf@a weat & 3cax {few:

Based on the above information, answer the following questions:

(i) st fr &I F X' IR gIEH H &I A Yy AR, SRFT AT F oY R & @ geaor
H g ST HhT &
Taking the number of children as ‘x’ and the number of adults as ‘y’, the above situation can be
represented in linear equation in two variables as:
(a) 2x +y =60 (b) 2x + 3y =60
(c)3x +2y =60 (d)3x+y=60

(i) afe sTat T aG&ar 15 §, ar aaEhr 6 TE&IT AT hIoivl
If the number of children is 15, then find the number of adults.
(a) 10 (b) 15 (c) 20 (d) 25

(iii) Ife Tt i gwar 12 §, O st fr g &
If the number of adults is 12, then the number of children is:
(a) 8 (b) 10 (c) 12 (d) 14

(iv) I x = -5 3Ry =2 GHHOT 3x + S5y = b #T g § df ‘b’ &7 A &
If x =—35 and y = 2 is a solution of the equation 3x + 5y = b then value of ‘b’ is:
(@a)-5 (b)5 (c)-2 (d)2

(V)S§ 4y —x =5@ax +by + c =0 F & & fo@m Jrar g, ar 'a' &1 A §:
When 4y — x =5 is written in the form of ax + by + ¢ = 0, then the value of ‘a’ is:
(a)l (b)-1 (c)-4 (d) 4

18.WﬁWWABC@r3§G|T&'24 A, 32 #r 3k 40 #r g
Teh ATl &I 386 IR 3R 13 3R 3R o1 9=t §| Tk e
& T U X% 3 HieX =St T BIST 9177 B - o
A triangular park ABC has sides of 24 m, 32 m and 40m. A

gardener has to put a fence all around it and also plant grass
inside. A 3m wide space for a gate is left on one side.

B 40m C



19.

3UNFT STASPRT & IR W), Aeafaf@d 9247 & 3cadi SIfaie:

Based on the above information, answer the following questions:

(i) 9T T 37T afRATT Far &2
What is the semi perimeter of the park?
(a) 40 m (b) 42 m (c) 46 m (d) 48 m

(ii) 9Th FT &YTH FAT &2
What is the area of the park?
(a) 360 m* (b) 384 m* (c) 364 m* (d) 380 m?

(iii) ¥ 20 9fd m* & X ¥ G A AT A9 &
The cost of planting grass at the rate of Rs. 20 per m? is:
(a) & 7600 (b) ® 7680 (c) & 7200 (d) ® 7280

(iv) & 30 9fa #Hiex T &3 ¥ HICGR 15 @M I AT g
The cost of fencing it with barbed wire at the rate of Rs. 30 per metre is:
(a) ® 2880 (b) ® 2700 (c)® 2790 (d) ¥ 2810

(V) 9Tk & FEH BIET el TR FeA1C T Ao HT ofers grom:
The length of altitude drawn to the shortest side of the park will be:
(a) 20 m (b) 24 m (c) 28 m (d)32 m

U JTd H TF 37 fSotell &1 @I PC a1, oar F Ry & Rurr w=r 1 59 @ & 10 Hiex a6 8 &
Hlge dR & ST a17| Ueh 9 30 @ W 997 Rl Feel oed ar 8 oRg eifdeed &
HAAR I e o s & T A & 1 Age ¥ S Far Srar ar 58 e S &t arel
39T AR W W@ A 39 TR fotell 8 ¥l arall I 10 HeX ol HEr AT A § dlfer I TH
W g P s 9gT ThIAE I ACH HNY 60° HT 0T ST &

In a rural village, there was a big electricity pole PC as shown in the figure. This pole was tied with a
strong wire of 10 m length. Once there was a big spark on this pole, thus wires got damaged very
badly. Any small fault was usually repaired with the help of a rope which the electricians carry on their
bicycles. This time electricians need a stair case of 10 m so that it can reach at point P on the pole. The
stair case makes an angle of 60° with the line AC.

R -




3T STPRY & YR W), Feafaf@a geat & 3caw e

Based on the above information, answer the following questions:

(i) APAC 3R APBC # @isT & 8ol 331af1s3 72

In APAC and APBC which side is common?
(a)PC (b) AB (c) AC (d) BC

(ii) 3mpfa #, APAC 3R APBC et @aforesar s & watoras &2
In the figure, APAC and APBC are congruent due to which criteria?
(a) RHS (b) SAS (c) SSS (d) ASA

(iii) 3T #, A PAC 3R APBC # Hlof-& HI0T FAT §?
In APAC and APBC which angles are equal?
(2) A= /x (b) 2B = £ x () 2B =2y (d) 2ACP = /BCP

(iv) £BPC &T &1 AT §?
What is the value of ZBPC?
(a) 30° (b) 45° (c) 60° (d) 90°

(v) 2APC &7 AT 7 87

What is the value of ZAPC?
(a) 30° (b) 45° (c) 60° (d) 90°

20. 1fer 7S eeh & v WA Thad A 0 & et §1 3mafs aleT Il F a1, 3egier Fa X
& Tl O & 3H THA U Iegie @ b O GaRT 9od =geidH 3& AR 3TadH 3w FAw: 2
3K 59 §1 98 UHAT 3l T 3YIANT HFoh TRIRAT TAROT dlfelel IR d ¢ 3R arferer &
3YANT e AT S § ST T Hefeet 3epfar & fe@mam am= gl

Anil is a Mathematics teacher in a government school in New Delhi. After periodic test III, he
collected the marks of all the students of class IX. He observed that the least marks and the highest
marks scored by the students are 2 and 59 respectively. He prepares the frequency distribution table
using the collected marks and draws the histogram using the table as shown in the adjoining figure.

Number ofstudents -
N

=
'y

U SH SN W W S SHNE SN S S

v ¢ ¢ ¢ ¢ ¢ ¢ ¢ T}

T
O Zaw 3w < =11 Ll ]
Mvllmmerblks of the stuadcdemts —

3UAFT STASPRT & IR R, FAeafai@d 9247 & 3cal Sifaie:

Based on the above information, answer the following questions:




(i) T 3T Fr T e raer &2
What is the width of the class?
(a)5 (b) 10 (c) 15 (d) 20

(i) 3mad T & o & He ;T FAT B2
What is the total number of students in histogram?
(a) 75 (b) 70 (c) 65 (d) 60

(iii) fohaeT BTET o 50% 3R 388 3f™F 376 gred R
How many students scored 50% and above marks?
(a) 19 (b) 22 (c) 26 (d) 27

(iv) fhasr oAl & 50% & HFA 3w gred e
How many students scored less than 50% marks?
(a) 26 (b) 27 (c)33 (d) 34

(V) UhfId 37hl T 9REX T §°?

What is the range of the collected marks?

(a) 57 (b) 59 (c) 60 (d) 65
aeT ¥ PartB
21. Rera ¥ #akw: 4x1 = 4
Fill in the blanks:

(i) Ifga=2+V3 dT 1/a HTATA =
Ifa :2+\/3, then the value of 1/a =

(i) TaTg P (-4,-3) 3T x- T offeaeh gl =

The perpendicular distance of the point (-4,-3) from the x- axis is

(iii) FHIOT F8geT Y ofell T Bl ¢l
The is the largest side of a right-angled triangle.
(iv) ERIeT I oh 3TAR Tehelt F87eT b7 & Ther g gl

According to Heron's formula the area of a triangle is given by

22. @ dUT JAT I3 4x1 = 4

State True or False:

(i) & TS & Falor A g & T, & AEst (3 el AR 307 # F IS 3 N ATIEs
SR gl A1fgul
For two triangles to be congruent, any three parameters of the six (3 sides and 3 angles)
should be equal.

(ii) 0.3 3R 0.5 @ IT 0.8 &l

The sum of 0.3 and 0.5 is 0.8.
(iii) T ANAT HEAT T T YOI & & 7 g2ir o geer g

Every rational number can be represented as an integer.

10



(iv) 9 I@IT S T & WM & FHGK &, IR AT 8iar gl

Lines which are parallel to the same line are parallel to each other.

g 23-28 3fd &g - 3cchIT qed &1 godd ged 1 3% F &

Q 23— 28 are very short answer type questions. Each question is of 1 mark.

23. WA AT Solve: 1273 x 573

24. &Y 78 3MHA 7 x T AT A DT

Find the value of x in given figure.
3Id1/OR

& arg AT A P’ T AT AT RfrT

Find the value of ‘P’ in the given figure .

25. @ gHEUT 4x=6 &T W g 3787 & AT &7

The graph of the linear equation 4x=6 is parallel to which axis?
31Ydr/OR

FHIRIOT 2x-y=6 I T x- 3787 1 fohd foig W AreaT g ?
At what point does the graph of 2x-y=6, cut the x-axis?

26. AABC # AB=BC 31T £B =40° & @Y 2C &T #ATT ATd fhioTv|
In AABC AB=BC and B =40° . Find the value of 2C.

31Yd1/OR

AABC 3R APQR & forw @aergaar e faf@e afe AB=QP, «B =«P 3iR BC=PR §|
Write the congruence criteria for AABC and APQR where AB=QP , 2B =P and BC=PR.

27. V2 3R V3 & drare) 3aRET gt A S|

Find two irrational numbers between V2 and V3.

28. TH T FIHA FT Teh FIUT 65° &1 $H FIH T GERT HI0T AT HfSTl

One of the angles of a linear pair is 65°. Find the measure of the other angle.
3Ydi/OR

e, Teh TA8YT o 2 0T qTeoh & Al 9 Tl TehR T FHSST e HehcT 872

If two angles of a triangle are complementary then what type of triangle will be formed?

11



qeT @ Part C

g 29 - 32 3ifd g -3cakiF qod &1 q3AF qed 2 3 FT &/
Q 29— 32 are very short answer type questions. Each question is of 2 mark.

29. WA FITAT Solve :-

(6)5/4 % (8)4/3

31Yd1/OR

2
Ifgp = 5-2V6 § ar (1}% &I AT AT HIFAT
(1-p)?

p?

If p = 5-2V6 then find the value of

30. giigy f& i ol 38gsT o aF rott 1 I AR 10T & Tl &1 Al a8 387t FaeIoT glam|

Show that if the sum of the two angles of a triangle is equal to the third angle then the
triangle is right angled triangle .

31. 38 THCIASTE TS b &Tthel AT fhTAT fSraehT Tedish TAT 37T | Scm &Y AT T ${aiT 12em &

Find the area of isosceles triangle whose equal sides are of length 15cm each and third side is 12cm.

32. x- 3767 CTUT y-378T X X &7 il o fovelenieh il RFSTT fStereht ofer foig & gt T 8|

Find the coordinates of two points on x-axis and y-axis which are at equal distance from origin.

37Yd1/OR
et g sle-a aqaier & ud 8 2

In which coordinate the following points lie?
a) (-4.,0) b) (3,3)
alst faee3it &l (31 1 AT - (I HT JT) AT AT |

Find (sum of abscissa) - (sum of ordinates) of both the points.

733 - 36 g -3ccRIT I &1 G2 q97 3 3% T & /
Q 33 — 36 are short answer type questions. Each question is of 3 mark.

10
33. 7 V5 = 2236 @1 V10 = 3162 1 Al s T AT AT AT

10
V20 — V10420 °

If V5 = 2.236 and V10 = 3.162 then find the value of

Y4Ar/OR
galsT  Show that
xa(b=c) ' xb c
a0~ Ca) =1

12



34. 2x + 5y =-1% Fg T gol AT HIAT |

Find any three solutions of 2x + S5y =-1.

35. fae=t i & FEPQ=PR dur MQ=MR & o f&g HIfSv & 2PQM = .PRME|
In the given figure if PQ=PR and MQ=MR then prove that ZPQM = ZPRM.

P P

Q R

36. 3 # I fRToT OR, £POS &1 @am for OT, £QOS & FHSTIHTISI el & T

ORLOT & ar &g fifar 5 P,O gar Q W@ ¢ |

In figure, if ray OR bisects 2POS and ray OT bisects 2QOS and ORLOT then prove that
P,O and Q are collinear.

R S T

A
v

g 37 -39 & 3caity gea &1 gdF gea 4 JH FTE/

Q 37 -39 are long answer type questions. Each question is of 4 mark.

37. IfE 2 AR b S aRAT FEAw § a2 3R b & A AT Hifow

If both ‘a’ and ‘b’ are rational numbers, then find the values of ‘a’ and ‘b’:

V2+y3

a2z Y

13



38. U ST H HFAARAT A FAS 3T TR &

The heights of employees in an office are as follows:

SIS (el ) 130 - 140

) ) 140-150 | 150-160 | 160-170 | 170-180 | 180-190
Height (in cm)
PR T e 8 18 20 5 4 3
Number of Employees

3IRFd difaer & T e 3aa [T g7

Draw a histogram for the above table.

39. BAfhd AT & Tl FT I0ET HifAT |

Calculate the area of the shaded region

37Yd1/OR

Teh Yol &, &7 Aol ganst o T &1 €« & A us & 10 Aol gahst &t Aelrs ot
Teh Bl T8 S g1 ARG 93 & Tcdeh Tohs T AT 60 FT, 60 FT 3 20 @A &, & A1t

T F TS T HfT hded HUS &I HTTTHhdT &2

In an exhibition, an umbrella is made by stitching 10 triangular pieces of cloth with same
message written on two triangular pieces. If each piece of cloth measures 60 cm, 60 cm
and 20 cm, find how much cloth is required for each message.

60 cm

20 cm

14

o0 cm




